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= 24,168 21,968 2,200
2gae] 118,318 21,968 96,350
2l 94,150 0 94,150
= 24,168 21,968 2,200
ZsY =Y XA 74,150 0 74,150
2l 74,150 0 74,150
307 gI2t01 & 11,130 0 11,130
Dl 11,130 0 11,130
02 QI HAANEE X 11,130 0 11,130
OXEH ZZEE 7L (HEH)
11,130,000& 11,130 0 11,130
7 11,130 0 11,130
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OS&H s22% 2 g ZHIZ2IAHEEH)
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7 20,000 0 20,000
= 2,200 0 2,200
AoEd 25 229,429 177,089 52,340
= 19,410 19,410 0
< 35,161 23,936 11,225
i 174,858 133,743 41,115
O S SIIoH0I 180,509 128,169 52,340
= 9,650 9,650 0
< 32,852 21,627 11,225
= 138,007 9%,89%2 41,115
OMHESZ ToH OllZALY 17,820 10,380 7,440
201 2= 2,400 0 2,400
01 AtR2telt] 2,400 0 2,400
Oggt=EZH| 2,400 0 2,400
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80,0002 * 15K 1,200 0 1,200
301 LEIEES 15,420 10,380 5,040
14 J|Et2 a3 15,120 10,080 5,040
ORlioMs= JIsXZE &=l
7,200 x21H+1002 15,120 10,080 5,040
FoOrlSE EITAZ 54,200 9,300 44,900
< 13,550 2,325 11,225
= 40,650 6,975 33,675
301 LEIEHZ 54,200 9,300 44,900
< 13,550 2,325 11,225
= 40,650 6,975 33,675
14 JIEt2 &3 54,200 9,300 44,900
Ositidss Z2ZAz XA
200,000 »2710t2 54,200 9,300 44,900
< 13,550 2,325 11,225
i 40,650 6,975 33,675
CHol2te 5,348,294 5,126,861 221,433
= 2,448,194 2,276,3% 171,800
2l 250,825 250,825 0
< 369,333 316,870 52,463
= 2,279,942 2,282,772 12,830
AF2LHH= 534,027 531,444 2,583
= 6,245 6,245 0
) 250,825 250,825 0
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[ 2,063 1,200 863
= 274,8% 273,174 1,720
HIS SHASHIECE & 2FAY 2,583 0 2,583
< 863 0 863
= 1,720 0 1,720
301 LEEEZ 2,583 0 2,583
< 863 0 863
= 1,720 0 1,720
14 JIE2 4= 2,583 0 2,583
OXZE EASEIEE S 2EAMY
2,583,000 2,583 0 2,583
& 863 0 863
s 1,720 0 1,720
tolegztel 4,814,267 4,595,417 218,850
= 2,441,949 2,270,149 171,800
< 367,270 315,670 51,600
s 2,005,048 2,009,598 A4,550
ST HIEIA HZALY 1,514,750 1,708,848 A 194,098
= 772,500 869,549 A97,049
< 59,750 71,750 A 12,000
= 682,500 767,549 85,049
301 LEENS 1,195,000 1,435,000 240,000
= 597,500 717,500 120,000
== 59,750 71,750 A 12,000
= 537,750 645,750 108,000
14 JIE2 A S 1,195,000 1,435,000 240,000
OL& ZRX ZIIHX KIJAA
2,390,000 *500CH 1,195,000 1,435,000 240,000
= 597,500 717,500 120,000
< 59,750 71,750 12,000
z 537,750 645,750 108,000
402 RIZERHZ01H 317,000 271,098 45,902
= 175,000 152,049 22,951
= 142,000 119,049 22,951
02 RIENEASEZ(0IETHR) 317,000 271,098 45,902
OLPG &2 Xt AR IR A
20,000,000& 20,000 30,000 10,000
= 10,000 15,000 5,000
= 10,000 15,000 25,000
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= 66,000 37,950 28,050
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= e 0 9
= 9 0 9
ESAXSI ES A 1,264,000 1,364,000 100,000
= 510,000 510,000 0
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= 600,000 700,000 100,000
402 QIZEXH20IH 1,254,000 1,354,000 100,000
= 500,000 500,000 0
< 154,000 154,000 0
s 600,000 700,000 100,000
02 SIINEASEZ(0IETHR) 1,254,000 1,354,000 100,000
Ooglt MIIXSA 25 ALY
12,500,000 *100CH 1,250,000 1,350,000 100,000
= 500,000 500,000 0
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< 120,000 75,000 45,000
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402 RIZHAHZ01H 1,560,000 1,125,000 435,000
= 960,000 700,000 260,000
< 120,000 75,000 45,000
= 480,000 350,000 130,000
02 RIENZASE X (01 THR) 1,560,000 1,125,000 435,000
OXIISIEX B=S A
19,500, 0002 *80CH 1,560,000 1,125,000 435,000
= 960,000 700,000 260,000
< 120,000 75,000 45,000
= 480,000 350,000 130,000
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= 8,750 0 8,750
s 7,000 0 7,000
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2 2,900 0 2,900
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z 281,600 0 281,600
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= 225,280 0 225,280
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z 405,000 0 405,000
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= 324,000 0 324,000
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z 100,844 0 109,844
< 21,970 0 21,970
= 87,878 0 87,878
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= 18,000 21,360 23,360
14 JIEt2 4= 30,000 30,000 0
OgsHbld =024z
100,000& *300& 30,000 30,000 0
= 6,000 6,000 0
< 6,000 2,640 3,360
= 18,000 21,360 23,360
LAY 2el 281,680 241,680 40,000
201 LEH2 | 257,680 217,680 40,000
02 35244l 254,800 214,800 40,000
O¢ =l 190,000 150,000 40,000
-Haltg & S3 =)0
1,599%4+9,9022 |+ 1201 2 190,000 150,000 40,000
SHEF HIIZ Xel 307,105 306,145 960
202 Ot 5,280 4,320 960
01 =LH0d 5,280 4,320 960
OSAESFRHIIZ Mel(22)
10,0002 x2& »223] * 1201 2 5,280 4,320 960
= Y Yt 5,916,306 6,102,877 N 186,571
= 769,993 982,443 N212,450
pJ 572,831 500,686 72,145
< 1,163,633 1,041,232 122,401
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< 1,200 1,200 0
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z 2,758 0 2,758
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301 LEEHZ 0 3,500 23,500
= 0 1,050 A1,050
= 0 2,450 22,450
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402 QIZEXH20IH 0 6,000 26,000
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< 0 1,500 21,500
= 0 4,500 24,500
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< 21,000 15,000 6,000
= 63,000 45,000 18,000
402 RIZERH20IH 84,000 60,000 24,000
< 21,000 15,000 6,000
z 63,000 45,000 18,000
02 QIEN 2 AL EZ(0IETHR) 84,000 60,000 24,000
OJIE&R &l 258 A2 A
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= 63,000 45,000 18,000
SMsE AFHMSAE X2 AL 0 54,000 A54,000




FA IR
g =4 FHY 25
chRls A SaD|e EF EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
[ 0 9,000 29,000
= 0 45,000 A45,000
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= 0 45,000 245,000
02 QIEX 2 AL E X (0IETHR) 0 54,000 54,000
OFbtsZ AFHHZAIE XA
J80& 0 54,000 A54,000
< 0 9,000 29,000
i 0 45,000 245,000
SHAS HAANSH St KA 28,000 24,000 4,000
= 5,600 4,800 800
< 1,400 1,200 200
= 21,000 18,000 3,000
301 LEENS 28,000 24,000 4,000
= 5,600 4,800 800
< 1,400 1,200 200
= 21,000 18,000 3,000
14 JIE2 4= 28,000 24,000 4,000
SIS HAMNSH Stz N2AE
400,000 +700t2] 28,000 24,000 4,000
= 5,600 4,800 800
< 1,400 1,200 200
z 21,000 18,000 3,000
IIEER B9l A3 X3 A 15,540 0 15,540
< 3,108 0 3,108
= 12,432 0 12,432
307 2IZtol ™ 15,540 0 15,540
[ 3,108 0 3,108
T 12,432 0 12,432
02 2B HAHE L 15,540 0 15,540
OJt=25L E%H| T2t XA
20,0002 *2,590E+30% 15,540 0 15,540
< 3,108 0 3,108
= 12,432 0 12,432
=g el 3,739,282 4,005,829 N266,547
= 761,368 974,618 ~213,250
2l 36,027 340,068 5,959
< 778,826 688,233 90,59
= 1,853,061 2,002,910 A 149,849
I=EdZgo g 2el 66,400 63,400 3,000
201 Ler2 | 27,300 24,300 3,000
01 At2t2lt] 24,060 21,060 3,000
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= 0 4,000 24,000
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=Y HASZN KA 184,460 149,920 34,540
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206 M= 4l 184,460 149,920 34,540

T 50,438 40,076 10,362

= 134,022 109,844 24,178
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= 14,058 3,696 10,362
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= 140,000 80,000 60,000

s 17,500 10,000 7,500

i 17,500 10,000 7,500

301 LEHBEF 175,000 100,000 75,000

= 140,000 80,000 60,000

T 17,500 10,000 7,500

= 17,500 10,000 7,500

14 J|EI2 A3 175,000 100,000 75,000

OJIEHgE Xz 2

175,000,000 175,000 100,000 75,000

= 140,000 80,000 60,000

= 17,500 10,000 7,500

= 17,500 10,000 7,500
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= 9,600 7,200 2,400
= 38,400 28,800 9,600
14 IIEt2 8 48,000 36,000 12,000
OJt=gs 235 2494l 48,000,000& 48,000 36,000 12,000
LS 9,600 7,200 2,400
o 38,400 28,800 9,600
THSE 2S8A HE XA 116,000 0 116,000
< 116,000 0 116,000
206 M=l 62,000 0 62,000
LS 62,000 0 62,000
01 =8l 62,000 0 62,000
OTHIY A3 N2 (SHH)
62,000,000 62,000 0 62,000
= 62,000 0 62,000
301 LELE NS 54,000 0 54,000
& 54,000 0 54,000
4 IIE2d=s 54,000 0 54,000
OFMY 2gal E Azt X2 (48d)
54,000,000 54,000 0 54,000
< 54,000 0 54,000
HA A58 S22 HAXEH 8,800 0 8,800
=S 2,200 0 2,200
s 6,600 0 6,600
206 M=l 8,800 0 8,800
S 2,200 0 2,200
[Ea 6,600 0 6,600
01 MHZH| 8,800 0 8,800
OHAl dal|28)I5F2 WA XA
2,0003#4,400% 8,800 0 8,800
= 2,200 0 2,200
= 6.600 0 6.600
& 2229 WAXH 23,100 0 23,100
LS 5,775 0 5,775
s 17,325 0 17,325
206 M=H| 23,100 0 23,100
= 5,775 0 5,775
[Ea 17,325 0 17,325
01 M= H| 23,100 0 23,100
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10&+2,310,000= 23,100 0 23,100
= 5,775 0 5,775
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